CITY OF NEWTON, MASSACHUSETTS PURCHASING DEPARTMENT COMPARISON OF BIDS

INVITATION #22-65

Grass Cutting & Trimming, Removal of Leaves, Mulching, & Pruning of Shrubs (26 locations)

Bid Opening: April 7, 2022 - 11:00 AM Parks & Recreation / Nicole Banks

Award Recommended To:

Bidders	Jewett*	M. Neves Inc
BASE BID (Grass Mowing & Trimming)	\$47,238.00	\$79,380.00
BASE BID Leaf & Branch Removal	\$35,563.00	\$27,405.00
BASE BID Mulching	\$4,715.00	\$10,000.00
BASE BID Pruning	\$6,870.00	\$5,535.00
COMBINED BASE BID	\$94,386.00	\$122,320.00
OPTION 1 - Total for Mulching	\$4,900.00	\$5,000.00
OPTION 2 - Total for Pruning	\$3,200.00	\$3,600.00
OPTION 3 - Total for Weed Removal	\$3,200.00	\$3,600.00
OPTION 4 - Total for Branch Removal	\$3,200.00	\$3,600.00

 Base Bid and Vendor#
 Option 1

 Base Bid leaf & branch removal and Vendor#
 Option 2

 Base Bid Mulching and Vendor#
 Option 3

 Base Bid Pruning and Vendor#
 Option 4

 Department Head
 Option 4

Date

Date

Bidders	QTY	Jewett		M. Neves Inc		
Base Bid - Grass Mowing & Trimming		Unit Price	Annual	Unit Price	Annual	
Armory Building Washington St	12	\$65.00	\$780.00	\$135.00	\$1,620.00	
Border on Austin Street (#66-357)including square at Austin St. & Lowell Ave.	12	\$160.00	\$1,920.00	\$405.00	\$4,860.00	
Border on Central Street (#229-295) including 5 triangle at Central St. & Grove St including property on the north side of 14 Hancock St.	12	\$140.00	\$1,680.00	\$270.00	\$3,240.00	
Carleton	12	\$52.00	\$624.00	\$135.00	\$1,620.00	
Charlesbank Playground	12	\$70.00	\$840.00	\$270.00	\$3,240.00	
Grant Ave. Aqueduct	12	\$150.00	\$1,800.00	\$405.00	\$4,860.00	
Islington Park	12	\$225.00	\$2,700.00	\$337.50	\$4,050.00	
Linwood Park	12	\$150.00	\$1,800.00	\$337.50	\$4,050.00	
Lowell Park including park extension that extends to the western side of the walkway at 6 Lowell Ave	12	\$150.00	\$1,800.00	\$337.50	\$4,050.00	
Mill Street	6	\$75.00	\$450.00	\$135.00	\$810.00	
Newton Centre Fire HO's	12	\$85.00	\$1.020.00	\$270.00	\$3,240.00	
Old Farm Rd Island	12	\$60.00	\$720.00	\$135.00	\$1,620.00	
Public Building Department	12	\$68.00	\$816.00	\$270.00	\$3,240.00	
Rev. Ford (Crescent St. plgd.)	12	\$120.00	\$1,440.00	\$270.00	\$3,240.00	
River Street Playground	12	\$150.00	\$1,800.00	\$270.00	\$3,240.00	
Sargent Park	12	\$65.00	\$780.00	\$135.00	\$1,620.00	
Spears Park	12	\$68.00	\$816.00	\$135.00	\$1,620.00	
Triangle @ Langley Rd/Beacon St	12	\$100.00	\$1,200.00	\$135.00	\$1,620.00	
Waban Ave. Aqueduct	12	\$585.00	\$7,020.00	\$270.00	\$3,240.00	
Waban Hill Reservoir	12	\$860.00	\$10,320.00	\$675.00	\$8,100.00	
Waban Hill Road Tower Area outside chain link fence only	12	\$65.00	\$780.00	\$270.00	\$3,240.00	
Waban Park	12	\$68.00	\$816.00	\$135.00	\$1,620.00	
Walnut Park	12	\$78.00	\$936.00	\$270.00	\$3,240.00	
Washington Park	12	\$150.00	\$1,800.00	\$270.00	\$3,240.00	
Webster Park	12	\$65.00	\$780.00	\$135.00	\$1,620.00	
Wolcott Park	12	\$150.00	\$1,800.00	\$270.00	\$3,240.00	
Base Bid - Grass Mowing & Trimming		\$47,238.00 \$7		\$79,3	\$79,380.00	

	0.571				
Leaf Removal & Branch Removal	QTY	Unit Price	Annual	Unit Price	Annual
Armory Building Washington St	2	\$450.00	\$900.00	\$405.00	\$810.00
Triangle at Beacon St & Wilde Rd	1	\$568.00	\$568.00	\$405.00	\$405.00
Border on Austin Street (#66-357)including square at Austin St. & Lowell	2	\$900.00	¢1.000.00	¢1.000.00	\$2,160,00
Ave.	2	\$900.00	\$1,800.00	\$1,080.00	\$2,160.00
Border on Central Street (#229-295) including including triangle at Central St.	2	\$950.00	\$1,900.00	\$540.00	\$1,080.00
& Grove St including property on the north side of 14 Hancock St.					
Carleton	2	\$475.00	\$950.00	\$405.00	\$810.00
Charlesbank Playground Triangle at Chestnut and Beacon Island	2	\$525.00	\$1,050.00	\$540.00	\$1,080.00
Elmwood	1	\$610.00 \$750.00	\$610.00 \$750.00	\$405.00 \$540.00	\$405.00 \$540.00
Fire	1	\$950.00	\$950.00	\$540.00	\$540.00
Gaspari	1	\$625.00	\$625.00	\$270.00	\$270.00
Grant Ave. Aqueduct	2	\$625.00	\$1,250.00	\$540.00	\$1,080.00
Islands on Forest & Highland ave	1	\$950.00	\$950.00	\$270.00	\$270.00
Islington Park	2	\$675.00	\$1,350.00	\$540.00	\$1,080.00
Kent Circle	1	\$300.00	\$300.00	\$135.00	\$135.00
Linwood Park	2	\$625.00	\$1,250.00	\$540.00	\$1,080.00
Lowell Park including park extension that extends to the western side of the	2	\$725.00	\$1,450.00	\$540.00	\$1,080.00
walkway at 6 Lowell Ave	2	\$725.00	\$1,430.00	\$340.00	\$1,080.00
Mill Street	2	\$600.00	\$1,200.00	\$405.00	\$810.00
Newton Centre Fire HQ's	2	\$575.00	\$1,150.00	\$540.00	\$1,080.00
Old Farm Rd Island	2	\$575.00	\$1,150.00	\$405.00	\$810.00
Public Building Department	2	\$575.00	\$1,150.00	\$540.00	\$1,080.00
Rev. Ford (Crescent St. plgd.)	2	\$600.00	\$1,200.00	\$405.00	\$810.00
River Street Playground	2	\$600.00	\$1,200.00	\$540.00	\$1,080.00
Sargent Park	2	\$350.00	\$700.00	\$270.00	\$540.00
Spears Park	2	\$350.00	\$700.00	\$405.00	\$810.00
Triangle @ Langley Rd/Beacon St	2	\$250.00	\$500.00	\$135.00	\$270.00
Waban Ave. Aqueduct	2	\$1,250.00	\$2,500.00	\$540.00	\$1,080.00
Waban Hill Reservoir	2	\$680.00	\$1,360.00	\$540.00	\$1,080.00
Waban Hill Road Tower Area outside chain link fence only	2	\$425.00	\$850.00	\$405.00	\$810.00
Waban Park	2	\$400.00	\$800.00	\$270.00	\$540.00
Walnut Park	2	\$400.00	\$800.00	\$405.00	\$810.00
Washington Park	2	\$625.00	\$1,250.00	\$540.00	\$1,080.00
Webster Park	2	\$600.00	\$1,200.00	\$405.00	\$810.00
Wolcott Park	2	\$600.00	\$1,200.00	\$540.00	\$1,080.00
Total Leaf Removal & Branch Removal		\$35,50	53.00	\$27,4	05.00

Base Bid - Mulching		Unit Price	Annual	Unit Price	Annual	
Carleton Park	1	\$600.00	\$600.00	\$500.00	\$500.00	
Linwood Park	1	\$600.00	\$600.00	\$1,000.00	\$1,000.00	
Gaspari Park	1	\$475.00	\$475.00	\$500.00	\$500.00	
Newton Centre Fire HQ's	1	\$600.00	\$600.00	\$2,000.00	\$2,000.00	
Old Farm Rd Island	1	\$475.00	\$475.00	\$1,500.00	\$1,500.00	
Public Building Department	1	\$475.00	\$475.00	\$2,000.00	\$2,000.00	
Waban Ave. Aqueduct	1	\$890.00	\$890.00	\$2,000.00	\$2,000.00	
Washington Park	1	\$600.00	\$600.00	\$500.00	\$500.00	
Total - Mulching		\$4,71	\$4,715.00		\$10,000.00	
Base Bid - Pruning	QTY	Unit Price	Annual	Unit Price	Annual	
Armory Building Washington Street	1	\$500.00	\$500.00	\$270.00	\$270.00	
Border on Austin Street including square at Austin St & Lowell Ave	1	\$1,020.00	\$1,020.00	\$810.00	\$810.00	
Border on Central Street including 2 triangles at Central St. & Grove St including property on the north side of 14 Hancock St	1	\$1,000.00	\$1,000.00	\$270.00	\$270.00	
Carleton Park	1	\$400.00	\$400.00	\$270.00	\$270.00	
Charlesbank Playground	1	\$400.00	\$400.00	\$270.00	\$270.00	
Mill Street	1	\$400.00	\$400.00	\$540.00	\$540.00	
Newton Centre Fire HQ's	1	\$500.00	\$500.00	\$540.00	\$540.00	
Old Farm Park Island	1	\$400.00	\$400.00	\$540.00	\$540.00	
Public Building Department	1	\$400.00	\$400.00	\$540.00	\$540.00	
River Street Playground	1	\$400.00	\$400.00	\$540.00	\$540.00	
Triangle @ Langley Rd/Beacon St	1	\$300.00	\$300.00	\$135.00	\$135.00	
Washington Park	1	\$400.00	\$400.00	\$540.00	\$540.00	
Waban Ave. Aqueduct	1	\$750.00	\$750.00	\$270.00	\$270.00	
Total - Pruning		\$6,870.00		\$5,53	\$5,535.00	
		* ***	* 4 000 00	* 100.00	** 000 00	
Option One: Mulching	50	\$98.00	\$4,900.00	\$100.00	\$5,000.00	
Option Two: Hourly Pruning of Shrubs	40	\$80.00	\$3,200.00	\$90.00	\$3,600.00	
Option Three: Hourly Weed Removal of Mulch Beds	40	\$80.00	\$3,200.00	\$90.00	\$3,600.00	
Option Four: Hourly Branch Removal	40	\$80.00	\$3,200.00	\$90.00	\$3,600.00	